Q1.
p1-sc
94.
(29615-!-item-!-188;#058&003960)

The decline of the mountain yellow-legged frog in the high reaches of the Sierra Nevada has become severe enough for the United States Fish and Wildlife Service quite possibly to list it as an endangered species in the near future.

(A) severe enough for the United States Fish and Wildlife Service quite possibly to list it

(B) severe enough so that the United States Fish and Wildlife Service could well list them

(C) severe enough for it quite possibly to be listed by the United States Fish and Wildlife Service

(D) so severe that the United States Fish and Wildlife Service could well list it

(E) so severe that they could well be listed by the United States Fish and Wildlife Service

Q2. 
p1-sc
95.
(29661-!-item-!-188;#058&003962)

Unlike frogs that metamorphose from tadpoles into adults within a one-year period, it takes three to four years for the mountain yellow-legged frog of the Sierra Nevada to reach adulthood, and so they are restricted to deeper bodies of water that do not dry up in summer or freeze solid in winter.

(A) it takes three to four years for the mountain yellow-legged frog of the Sierra Nevada to reach adulthood, and so they are

(B) it takes the mountain yellow-legged frog of the Sierra Nevada three to four years until it reaches adulthood, and therefore it is

(C) in the Sierra Nevada, mountain yellow-legged tree frogs take three to four years to reach adulthood, thus being

(D) mountain yellow-legged frogs of the Sierra Nevada take three to four years until they reach adulthood, thus

(E) mountain yellow-legged frogs of the Sierra Nevada take three to four years to reach adulthood, and so they are

Q3. 
p1-sc
96.
(29707-!-item-!-188;#058&003977)

In some species of cricket, the number of chirps per minute used by the male for attracting females rise and fall in accordance with the surrounding temperature, and they can in fact serve as an approximate thermometer.

(A) for attracting females rise and fall in accordance with the surrounding temperature, and they can in fact serve

(B) for attracting females rises and falls in accordance with the surrounding temperature, which can in fact serve

(C) in attracting females rise and fall in accordance with the surrounding temperature, in fact possibly serving

(D) to attract females rises and falls in accordance with the surrounding temperature, and it can in fact serve

(E) to attract females rises and falls in accordance with the surrounding temperature, in fact possibly serving

Q4. 
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97.
(29753-!-item-!-188;#058&003991)

Industrialization and modern methods of insect control have improved the standard of living around the globe while at the same time they have introduced some 100,000 dangerous chemical pollutants, having gone virtually unregulated since they were developed more than 50 years ago.

(A) while at the same time they have introduced some 100,000 dangerous chemical pollutants, having

(B) while at the same time introducing some 100,000 dangerous chemical pollutants that have

(C) while they have introduced some 100,000 dangerous chemical pollutants at the same time, which have

(D) but introducing some 100,000 dangerous chemical pollutants at the same time that have

(E) but at the same time introducing some 100,000 dangerous chemical pollutants, having

Q5. 
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98.
(29799-!-item-!-188;#058&004009)

A decade after initiating the nation's most comprehensive and aggressive antismoking program, per capita consumption of cigarettes in California declined from over 125 packs annually per person to about 60, a drop more than twice as great as in the nation as a whole.

(A) per capita consumption of cigarettes in California declined from over 125 packs annually per person to about 60, a drop more than twice as great as

(B) annual per capita consumption of cigarettes in California declined from over 125 packs to about 60, more than twice as great as that

(C) California's annual per capita consumption of cigarettes declined from over 125 packs per person to about 60, more than twice as great as the drop

(D) California has seen per capita consumption of cigarettes decline from over 125 packs annually to about 60, a drop more than twice as great as that

(E) California has seen annual per capita consumption of cigarettes decline from over 125 packs per person to about 60, more than twice as great as that

Essay #17.  549
(23848-!-item-!-188;#058&00549-00)

Many people believe that because wages are lower in developing countries than in developed countries, competition from developing countries in goods traded internationally will soon eliminate large numbers of jobs in developed countries.  Currently, developed countries' advanced technology results in higher productivity, which accounts for their higher wages.  Advanced technology is being transferred ever more speedily across borders, but even with the latest technology, productivity and wages in developing countries will remain lower than in developed countries for many years because developed countries have better infrastructure and better-educated workers.  When productivity in a developing country does catch up, experience suggests that wages there will rise.  Some individual firms in developing countries have raised their productivity but kept their wages (which are influenced by average productivity in the country's economy) low.  However, in a developing country's economy as a whole, productivity improvements in goods traded internationally are likely to cause an increase in wages.  Furthermore, if wages are not allowed to rise, the value of the country's currency will appreciate, which (from the developed countries' point of view) is the equivalent of increased wages in the developing country.  And although in the past a few countries have deliberately kept their currencies undervalued, that is now much harder to do in a world where capital moves more freely.

Q6. 
p1-rc
Question #56.  549-01
(23894-!-item-!-188;#058&000549-01)

The primary purpose of the passage is to

(A) identify the origin of a common misconception

(B) discuss the implications of a generally accepted principle

(C) present information relevant in evaluating a commonly held belief

(D) defend a controversial assertion against a variety of counterarguments

(E) explain under what circumstances a well-known phenomenon occurs 

Q7. 
p1-rc
Question #57.  549-06
(23940-!-item-!-188;#058&000549-06)

The passage suggests that if the movement of capital in the world were restricted, which of the following would be likely?

(A) Advanced technology could move more quickly from developed countries to developing countries.

(B) Developed countries could compete more effectively for jobs with developing countries.

(C) A country's average wages could increase without significantly increasing the sophistication of its technology or the value of its currency.

(D) A country's productivity could increase without significantly increasing the value of its currency.

(E) Workers could obtain higher wages by increasing their productivity. 

Q8. 
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Question #58.  549-07
(23986-!-item-!-188;#058&000549-07)

The passage suggests that which of the following would best explain why, in a developing country, some firms that have raised their productivity continue to pay low wages?

(A) Wages are influenced by the extent to which productivity increases are based on the latest technology.

(B) Wages are influenced by the extent to which labor unions have organized the country's workers.

(C) Wages are not determined by productivity improvements in goods traded internationally.

(D) The average productivity of the workers in the country has not risen.

(E) The education level of the workers in the country determines wages. 

Q9. 
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99.
(29845-!-item-!-188;#058&004015)

A study of food resources in the North Pacific between 1989 and 1996 revealed that creatures of the seabed were suffering from dwindling food supplies, possibly resulting from increasing sea surface temperatures during the same period.

(A) that creatures of the seabed were suffering from dwindling food supplies, possibly resulting from increasing

(B) that creatures of the seabed were suffering because food supplies were dwindling, possibly as a result of an increase in

(C) that creatures of the seabed were suffering because of food supplies, which were dwindling possibly as a result of increasing

(D) creatures of the seabed that were suffering from food supplies that were dwindling, possibly resulting from an increase in

(E) creatures of the seabed that were suffering because food supplies were dwindling, which possibly resulted from increasing

Q10. 
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100.
(29891-!-item-!-188;#058&004023)

To help counteract the adverse effects of trout stocking on the amphibian populations in certain mountain lakes, biologists are recommending cutting back on trout stocking on the part of some states and even their being removed from some popular fishing lakes.

(A) cutting back on trout stocking on the part of some states and even their being removed

(B) cutting back on trout stocking on the part of some states and even that they remove them

(C) that trout stocking be cut back in some states and they even remove the trout

(D) that some states cut back on trout stocking and even their being removed

(E) that some states cut back on trout stocking and even remove the trout

Q11. 
p1-sc
101.
(29937-!-item-!-188;#058&004052)

Many environmentalists, and some economists, say that free trade encourages industry to relocate to countries with ineffective or poorly enforced antipollution laws, mostly in the developing world, and that, in order to maintain competitiveness, rich nations have joined this downward slide toward more lax attitudes about pollution.

(A) that, in order to maintain competitiveness, rich nations have joined this downward slide toward more lax attitudes about pollution

(B) that, for maintaining competitiveness, rich nations join in this downward slide toward more lax attitudes about pollution

(C) that rich nations join this downward slide toward more lax attitudes about pollution because of wanting to maintain competitiveness

(D) that in rich nations, joining this downward slide toward more lax attitudes about pollution is a result of wanting to maintain competition

(E) that wanting to maintain competition is making rich nations join in this downward slide toward an attitude about pollution that is more lax

Q12. 
p1-sc
102.
(29983-!-item-!-188;#058&004080)

Recent breakthroughs in technology have made it possible that high-definition digital video cameras are able to capture material with a degree of fidelity that nearly compares to 35-millimeter film and to project it digitally in theaters with no resulting loss of image quality.

(A) it possible that high-definition digital video cameras are able to capture material with a degree of fidelity that nearly compares to

(B) it possible to have high-definition digital video cameras that can capture material at a degree of fidelity almost like that with

(C) it possible for high-definition digital video cameras to capture material with a degree of fidelity nearly comparable to that of

(D) possible high-definition digital video cameras that can capture material at a degree of fidelity almost like

(E) possible high-definition digital video cameras able to capture material with a degree of fidelity that nearly compares to that with

Essay #18.  560
(23993-!-item-!-188;#058&00560-00)

A recent study has provided clues to predator-prey dynamics in the late Pleistocene era.  Researchers compared the number of tooth fractures in present-day carnivores with tooth fractures in carnivores that lived 36,000 to 10,000 years ago and that were preserved in the Rancho La Brea tar pits in Los Angeles.  The breakage frequencies in the extinct species were strikingly higher than those in the present-day species.

In considering possible explanations for this finding, the researchers dismissed demographic bias because older individuals were not overrepresented in the fossil samples.  They rejected preservational bias because a total absence of breakage in two extinct species demonstrated that the fractures were not the result of abrasion within the pits.  They ruled out local bias because breakage data obtained from other Pleistocene sites were similar to the La Brea data.  The explanation they consider most plausible is behavioral differences between extinct and present-day carnivores--in particular, more contact between the teeth of predators and the bones of prey due to more thorough consumption of carcasses by the extinct species.  Such thorough carcass consumption implies to the researchers either that prey availability was low, at least seasonally, or that there was intense competition over kills and a high rate of carcass theft due to relatively high predator densities.

Q13. 
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Question #59.  560-01
(24039-!-item-!-188;#058&000560-01)

The primary purpose of the passage is to

(A) present several explanations for a well-known fact

(B) suggest alternative methods for resolving a debate

(C) argue in favor of a controversial theory

(D) question the methodology used in a study

(E) discuss the implications of a research finding 

Q14. 
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Question #60.  560-02
(24085-!-item-!-188;#058&000560-02)

The passage suggests that, compared with Pleistocene carnivores in other areas, Pleistocene carnivores in the La Brea area

(A) included the same species, in approximately the same proportions

(B) had a similar frequency of tooth fractures

(C) populated the La Brea area more densely

(D) consumed their prey more thoroughly

(E) found it harder to obtain sufficient prey 

Q15. 
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Question #61.  560-07
(24131-!-item-!-188;#058&000560-07)

The passage suggests that tooth fractures in Pleistocene carnivores probably tended to occur less frequently

(A) during periods in which more prey were available

(B) at sites distant from the La Brea area

(C) in older individual carnivores

(D) in species that were not preserved as fossils

(E) in species that regularly stole carcasses from other species 

Q16. 
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65.
(35041-!-item-!-188;#058&007595)

Sales of telephones have increased dramatically over the last year. In order to take advantage of this increase, Mammoth Industries plans to expand production of its own model of telephone, while continuing its already very extensive advertising of this product.

Which of the following, if true, provides most support for the view that Mammoth Industries cannot increase its sales of telephones by adopting the plan outlined above?

(A) Although it sells all of the telephones that it produces, Mammoth Industries' share of all telephone sales has declined over the last year.

(B) Mammoth Industries' average inventory of telephones awaiting shipment to retailers has declined slightly over the last year.

(C) Advertising has made the brand name of Mammoth Industries' telephones widely known, but few consumers know that Mammoth Industries owns this brand.

(D) Mammoth Industries' telephone is one of three brands of telephone that have together accounted for the bulk of the last year's increase in sales.

(E) Despite a slight decline in the retail price, sales of Mammoth Industries' telephones have fallen in the last year.

Q17. 
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66.
(35089-!-item-!-188;#058&007596)

Bank depositors in the United States are all financially protected against bank failure because the government insures all individuals' bank deposits.  An economist argues that this insurance is partly responsible for the high rate of bank failures, since it removes from depositors any financial incentive to find out whether the bank that holds their money is secure against failure.  If depositors were more selective, then banks would need to be secure in order to compete for depositors' money.

The economist's argument makes which of the following assumptions?

(A) Bank failures are caused when big borrowers default on loan repayments.

(B) A significant proportion of depositors maintain accounts at several different banks.

(C) The more a depositor has to deposit, the more careful he or she tends to be in selecting a bank.

(D) The difference in the interest rates paid to depositors by different banks is not a significant factor in bank failures.

(E) Potential depositors are able to determine which banks are secure against failure.

Q18. 
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103.
(30029-!-item-!-188;#058&004082)

Simply because they are genetically engineered does not make it any more likely for plants to become an invasive or persistent weed, according to a decade-long study published in the journal Nature.

(A) because they are genetically engineered does not make it any more likely for plants to

(B) because it is genetically engineered does not make a plant any more likely to

(C) being genetically engineered does not make it any more likely that plants will

(D) being genetically engineered does not make a plant any more likely to

(E) being genetically engineered does not make a plant any more likely that it will become

Q19. 
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104.
(30075-!-item-!-188;#058&004088)

In Britain, "pig" refers to any member of the class of domestic swine, but the United States uses the term when referring only to younger swine not yet ready for market and weighing less than 82 kilograms (180 pounds).

(A) the United States uses the term when referring

(B) the United States term refers

(C) in the United States the term refers

(D) in the United States they use the term as it refers

(E) it is used in the United States when referring

Q20. 
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105.
(30121-!-item-!-188;#058&004107)

Even though it was not illegal for the bank to share its customers' personal and financial information with an outside marketing company in return for a commission on sales, the state's attorney general accused the bank of engaging in deceptive business practices by failing to honor its promise to its customers to keep records private.

(A) by failing to honor its promise to its customers to keep

(B) by its failure of honoring its promise to its customers to keep

(C) in its failing to honor its promise to its customers of keeping

(D) because of its failure in honoring its promise to its customers in keeping

(E) because of its failure to honor its promise to its customers of keeping

Q21. 
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106.
(30167-!-item-!-188;#058&004112)

Officials at the United States Mint believe that the Sacagawea dollar coin will be used more as a substitute for four quarters rather than for the dollar bill because its weight, only 8.1 grams, is far less than four quarters, which weigh 5.67 grams each.

(A) more as a substitute for four quarters rather than for the dollar bill because its weight, only 8.1 grams, is far less than

(B) more as a substitute for four quarters than the dollar bill because it weighs only 8.1 grams, far lighter than

(C) as a substitute for four quarters more than for the dollar bill because it weighs only 8.1 grams, far less than

(D) as a substitute for four quarters more than the dollar bill because its weight of only 8.1 grams is far lighter than it is for

(E) as a substitute more for four quarters rather than for the dollar bill because its weight, only 8.1 grams, is far less than it is for

Q22. 
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107.
(30213-!-item-!-188;#058&004113)

Women are expected to be the majority of students entering law school this fall, a trend ultimately placing more women in leadership positions in politics and business.

(A) Women are expected to be the majority of students entering law school this fall, a trend ultimately placing

(B) The majority of students entering law school this fall are expected to be women, a trend that will ultimately place

(C) The majority of students entering law school this fall are expected to be women, which will ultimately place

(D) It is expected that the majority of students entering law school this fall will be women, a trend ultimately placing

(E) It is expected for women to be the majority of students entering law school this fall, which will ultimately place

Q23. 
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67.
(35137-!-item-!-188;#058&007600)

A drug that is highly effective in treating many types of infection can, at present, be obtained only from the bark of the ibora, a tree that is quite rare in the wild.  It takes the bark of 5,000 trees to make one kilogram of the drug.  It follows, therefore, that continued production of the drug must inevitably lead to the ibora's extinction.

Which of the following, if true, most seriously weakens the argument above?

(A) The drug made from ibora bark is dispensed to doctors from a central authority.

(B) The drug made from ibora bark is expensive to produce.

(C) The leaves of the ibora are used in a number of medical products.

(D) The ibora can be propagated from cuttings and grown under cultivation.

(E) The ibora generally grows in largely inaccessible places.

Q24. 
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68.
(35185-!-item-!-188;#058&007601)

Manufacturers sometimes discount the price of a product to retailers for a promotion period when the product is advertised to consumers.  Such promotions often result in a dramatic increase in amount of product sold by the manufacturers to retailers.  Nevertheless, the manufacturers could often make more profit by not holding the promotions.

Which of the following, if true, most strongly supports the claim above about the manufacturers' profit?

(A) The amount of discount generally offered by manufacturers to retailers is carefully calculated to represent the minimum needed to draw consumers' attention to the product.

(B) For many consumer products the period of advertising discounted prices to consumers is about a week, not sufficiently long for consumers to become used to the sale price.

(C) For products that are not newly introduced, the purpose of such promotions is to keep the products in the minds of consumers and to attract consumers who are currently using competing products.

(D) During such a promotion retailers tend to accumulate in their warehouses inventory bought at discount; they then sell much of it later at their regular price.

(E) If a manufacturer fails to offer such promotions but its competitor offers them, that competitor will tend to attract consumers away from the manufacturer's product.

Q25. 
p1-sc
108.
(30307-!-item-!-188;#058&004171)

According to a new report by the surgeon general, women with less than a high school education had three times the likelihood that they would begin smoking as women who went to college.

(A) had three times the likelihood that they would begin smoking

(B) had three times the likelihood of beginning smoking

(C) were three times more likely to begin to smoke

(D) were three times more likely that they would begin to smoke

(E) were three times as likely to begin smoking

Q26. 
p1-sc
109.
(30353-!-item-!-188;#058&004189)

The discovery of glass being expandable and able to be shaped by human breath revolutionized glassworking to such an extent that today "glassblowing" has become the generic term for all glassworking, whether the glass is blown or formed by other techniques.

(A) of glass being expandable and able to be

(B) of glass that is capable of expansion and

(C) of glass being capable of expansion and that it can be

(D) that glass can be expanded and it is able to be

(E) that glass can be expanded and

Q27. 
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110.
(30399-!-item-!-188;#058&004205)

The federal immigration station on Ellis Island, which was first opened in 1892, then rebuilt in 1900, processing nearly three quarters of all immigrants entering the United States in the first quarter of the twentieth century.
(A) The federal immigration station on Ellis Island, which was first opened in 1892, then rebuilt in 1900, processing nearly three quarters of all immigrants entering the United States in the first quarter of the twentieth century.

(B) Having processed nearly three quarters of all immigrants who enter the United States in the first quarter of the twentieth century, the federal immigration station on Ellis Island first opened in 1892 and then was rebuilt in 1900.

(C) Processing nearly three quarters of all immigrants to enter the United States in the first quarter of the twentieth century, the federal immigration station on Ellis Island first opened in 1892, being rebuilt in 1900.

(D) First opened in 1892, then rebuilt in 1900, the federal immigration station on Ellis Island processed nearly three quarters of all immigrants entering the United States in the first quarter of the twentieth century.

(E) Of all immigrants to enter the United States in the first quarter of the twentieth century, the federal immigration station on Ellis Island processed nearly three quarters of them, having first opened in 1892 and rebuilt in 1900.

Q28. 
p1-sc
111.
(30445-!-item-!-188;#058&004235)

Hans Christian Andersen wrote fairy tales, which have been some of the most frequently translated works in literary history, while he wrote plays, novels, poems, and travel books, as well as several autobiographies, which remained almost unknown outside his native Denmark.

(A) Hans Christian Andersen wrote fairy tales, which have been some of the most frequently translated works in literary history, while he wrote plays, novels, poems, and travel books, as well as several autobiographies, which remained

(B) Hans Christian Andersen wrote fairy tales, which, while among the most frequently translated works in literary history, his plays, novels, poems, and travel books, as well as several autobiographies remain

(C) Even as Hans Christian Andersen's fairy tales have been among the most frequently translated works in literary history, still his plays, novels, poems, and travel books, as well as several autobiographies, remain

(D) Unlike the fairy tales written by Hans Christian Andersen, which are some of the most frequently translated works in literary history, he wrote plays, novels, poems, and travel books, as well as several autobiographies, which remained

(E) Although Hans Christian Andersen wrote fairy tales that are among the most frequently translated works in literary history, his plays, novels, poems, and travel books, as well as several autobiographies, remain

Q29. 
p1-cr
69.
(35233-!-item-!-188;#058&007607)

Excavation of the ancient city of Kourion on the island of Cyprus revealed a pattern of debris and collapsed buildings typical of towns devastated by earthquakes.  Archaeologists have hypothesized that the destruction was due to a major earthquake known to have occurred near the island in A.D. 365.

Which of the following, if true, most strongly supports the archaeologists' hypothesis?

(A) Bronze ceremonial drinking vessels that are often found in graves dating from years preceding and following A.D. 365 were also found in several graves near Kourion.

(B) No coins minted after A.D. 365 were found in Kourion, but coins minted before that year were found in abundance.

(C) Most modern histories of Cyprus mention that an earthquake occurred near the island in A.D. 365.

(D) Several small statues carved in styles current in Cyprus in the century between A.D. 300 and 400 were found in Kourion.

(E) Stone inscriptions in a form of the Greek alphabet that was definitely used in Cyprus after A.D. 365 were found in Kourion.

Q30. 
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70.
(35281-!-item-!-188;#058&007608)

According to a review of 61 studies of patients suffering from severely debilitating depression, a large majority of the patients reported that missing a night's sleep immediately lifted their depression.  Yet sleep-deprivation is not used to treat depression even though the conventional treatments, which use drugs and electric shocks, often have serious side effects.

Which of the following, if true, best explains the fact that sleep-deprivation is not used as a treatment for depression?

(A) For a small percentage of depressed patients, missing a night's sleep induces a temporary sense of euphoria.

(B) Keeping depressed patients awake is more difficult than keeping awake people who are not depressed.

(C) Prolonged loss of sleep can lead to temporary impairment of judgment comparable to that induced by consuming several ounces of alcohol.

(D) The dramatic shifts in mood connected with sleep and wakefulness have not been traced to particular changes in brain chemistry.

(E) Depression returns in full force as soon as the patient sleeps for even a few minutes.

Essay #17.  639
(23835-!-item-!-188;#058&00639-00)

In the 1980's, astronomer Bohdan Paczynski proposed a way of determining whether the enormous dark halo constituting the outermost part of the Milky Way galaxy is composed of MACHO's (massive compact halo objects), which are astronomical objects too dim to be visible.  Paczynski reasoned that if MACHO's make up this halo, a MACHO would occasionally drift in front of a star in the Large Magellanic Cloud, a bright galaxy near the Milky Way.  The gravity of a MACHO that had so drifted, astronomers agree, would cause the star's light rays, which would otherwise diverge, to bend together so that, as observed from Earth, the star would temporarily appear to brighten, a process known as microlensing.  Because many individual stars are of intrinsically variable brightness, some astronomers have contended that the brightening of intrinsically variable stars can be mistaken for microlensing.  However, whereas the different colors of light emitted by an intrinsically variable star are affected differently when the star brightens, all of a star's colors are equally affected by microlensing.  Thus, if a MACHO magnifies a star's red light tenfold, it will do the same to the star's blue light and yellow light.  Moreover, it is highly unlikely that a star in the Large Magellanic Cloud will undergo microlensing more than once, because the chance that a second MACHO would pass in front of exactly the same star is minuscule.

Q31.
P2-rc
Question #55.  639-01
(23881-!-item-!-188;#058&000639-01)

It can be inferred from the passage that which of the following would constitute the strongest evidence of the microlensing of a star in the Large Magellanic Cloud?

(A) The brightness of such a star is observed to vary at irregular intervals.

(B) The brightening of such a star is observed to be of shorter duration than the brightening of neighboring stars.

(C) The red light of such a star is observed to be brighter than its yellow light and its blue light.

(D) The red light, yellow light, and blue light of such a star are observed to be magnified temporarily by the same factor.

(E) The red light of such a star is observed to have increased tenfold. 

Q32.
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Question #56.  639-04
(23927-!-item-!-188;#058&000639-04)

According to the passage, Paczynski's theory presumes that if MACHO's constituted the Milky Way's dark halo, occasionally a MACHO would

(A) drift so as to lie in a direct line between two stars in the outer Milky Way

(B) affect the light rays of a star in the Large Magellanic Cloud with the result that the star would seem for a time to brighten

(C) become obscured as a result of the microlensing of a star in the Large Magellanic Cloud

(D) temporarily increase the apparent brightness of a star in the Large Magellanic Cloud by increasing the gravity of the star

(E) magnify each color in the spectrum of a star in the Large Magellanic Cloud by a different amount 

Q33.
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Question #57.  639-06
(23973-!-item-!-188;#058&000639-06)

The passage is primarily concerned with

(A) outlining reasons why a particular theory is no longer credited by some astronomers

(B) presenting data collected by a researcher in response to some astronomers' criticism of a particular line of reasoning

(C) explaining why a researcher proposed a particular theory and illustrating how influential that theory has been

(D) showing how a researcher's theory has been used to settle a dispute between the researcher and some astronomers

(E) describing a line of reasoning put forth by a researcher and addressing a contention concerning that line of reasoning 

Q34. 
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112.
(30491-!-item-!-188;#058&004240)

Though certain breeds of dog are renowned for their sense of smell, there is often a greater difference in scenting ability between two members of a single breed as there is between members of different breeds.

(A) is often a greater difference in scenting ability between two members of a single breed as there is

(B) is often more difference in scenting ability between two members of a single breed as to find one

(C) is often a greater difference in scenting ability between two members of a single breed than

(D) are often greater differences in scenting ability between two members of a single breed as there are

(E) are often greater differences in scenting ability between two members of a single breed than there is

Q35. 
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113.
(30537-!-item-!-188;#058&004273)

Thunderclouds form when warm, moist air rises into cooler air above, because either the ground is warmer than usually or because the interaction of two air masses, one warm and one cold, forces warm air to rise.

(A) because either the ground is warmer than usually or because

(B) because either the ground is warmer than usual or because of

(C) because of either the ground being warmer than usual or because

(D) either because of the ground's being warmer than usually or because of

(E) either because the ground is warmer than usual or because

Q36. 
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114.
(30583-!-item-!-188;#058&004275)

A study on couples' retirement transitions found that women who took new jobs after retiring from their primary careers reported high marital satisfaction, more than when retiring completely.

(A) more than when retiring

(B) more than if they were to retire

(C) more so than those who retired

(D) which was more so than those retiring

(E) which was more than if they had retired
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In many corporations, employees are being replaced by automated equipment in order to save money.  However, many workers who lose their jobs to automation will need government assistance to survive, and the same corporations that are laying people off will eventually pay for that assistance through increased taxes and unemployment insurance payments.

Which of the following, if true, most strengthens the author's argument?

(A) Many workers who have already lost their jobs to automation have been unable to find new jobs.

(B) Many corporations that have failed to automate have seen their profits decline.

(C) Taxes and unemployment insurance are paid also by corporations that are not automating.

(D) Most of the new jobs created by automation pay less than the jobs eliminated by automation did.

(E) The initial investment in machinery for automation is often greater than the short-term savings in labor costs.
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United States hospitals have traditionally relied primarily on revenues from paying patients to offset losses from unreimbursed care.  Almost all paying patients now rely on governmental or private health insurance to pay hospital bills.  Recently, insurers have been strictly limiting what they pay hospitals for the care of insured patients to amounts at or below actual costs.

Which of the following conclusions is best supported by the information above?

(A) Although the advance of technology has made expensive medical procedures available to the wealthy, such procedures are out of the reach of low-income patients.

(B) If hospitals do not find ways of raising additional income for unreimbursed care, they must either deny some of that care or suffer losses if they give it.

(C) Some patients have incomes too high for eligibility for governmental health insurance but are unable to afford private insurance for hospital care.

(D) If the hospitals reduce their costs in providing care, insurance companies will maintain the current level of reimbursement, thereby providing more funds for unreimbursed care.

(E) Even though philanthropic donations have traditionally provided some support for the hospitals, such donations are at present declining. 
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Many population studies have linked a high-salt diet to high rates of hypertension and shown that in societies where they consume little salt, their blood pressure typically does not rise with age.

(A) shown that in societies where they consume little salt, their

(B) shown that in societies that have consumed little salt, their

(C) shown that in societies where little salt is consumed,

(D) they showed that in societies where little salt is consumed,

(E) they showed that in societies where they consume little salt, their
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India, like Italy and China, has no single dominant cuisine:  Indian food comprises many different styles of cooking, with each a product of their regional influences, from the fiery vegetarian dishes of the south to the Portuguese-influenced Goan cooking of the west, to the more familiar Mogul food of the north.

(A) with each a product of their

(B) with each as a product of its

(C) each products of their

(D) each a product of

(E) each products of
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The population of India has been steadily increasing for decades, and it will probably have what is estimated as 1.6 billion people by 2050 and surpass China as the world's most populous nation.

(A) it will probably have what is estimated as

(B) they are likely to have

(C) the country will probably have

(D) there will probably be

(E) there will be an estimated

